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1- 1- The company undertaking the act of insurance is called St Qex LIFL S5 2 30 1 1

" insurance policy J’-'I;;ﬁﬁf (D) insurance (/% (C)

2- Whatis ag in3,7, 11, .......... ? el afd 3,7,11, ... b2
27 (D) 23 (C)- 19 (8) 15 (A)
3- 0.13 as percentage is ' - oS 013 23

44 130% (D) #10% (C)

4- The tax charged on all the taxable income is called
excise duty (#3751 (D)
5- What is the third term in a,=n+37?

0 (@) 6 (C)

n
6 H= =y is called
=)
harmonic mean Lk (B)
- arithmetic mean L-sidL> (D)
7- Whatis called 'n' in a"?
radicand . (D) radical .k (C)
8- The person or entity whose insurance is being done is called
; leasee 3 (D) drawer 3 (C)
9- What is the lowest form of 75: 95 ?

15:19 (D) 19:15 (C)
10- The coordinates of origin are
0.0) (D) 1) (C)

11- The share of a widow in inherited property is

| 1

= (D — {(C

3 (D) 3 (&)

12- The tax in addition to the price of the article is called
property tax Jgﬂc’% ()

13- Find the profit percentage, if SP > CP

SP x 100 ;,s,),;.f x 100 ®)
Profit% +100 »22F +100
Profit i :

L0 “i‘,xmn (D)

14- (ANB)® = 7
A~ B¢ (D) A°UB® (€C)
15- If wife dies, the husband inherits of the inheritance.
1 1
5 (D) 3 (C)
15-(111)-119-56000

income tax L/-cfi (C) direct tax

income tax L/?f! (C)

- #13% (A)
...:_.l?ikfuf_t‘@_l,xﬁ{ (}ATL/gJG'r'L:’.ﬁ Lfgu -4

ez (B)  salestax JEE (a)
[ B84 ay=n+3 .5

g "(B) 3 (A)

n

1
23)
mode b (A)
mean L (C)
Y a7

base U1 (B) exponent V= (A)
Ut einde SAPEL 2L A 8

insured .8 (B) insurer L& (A)
e P ol Td 75:95 .9

~ b« H= -6

17:15 (B) 15:17 (A)
-ujz_xabﬁ’ﬁy-'y -10
(1,0) (B) 1.1 &
e (Ut or So) o Lo b Fis Koz 11
1 1
5 (B) 2 (A)

g S Ad ke Sz 12
sales tax u*?)&“ (B) ©tax u‘g (A?
In esijed > Aok Sidebidd a3

i
CP A2
Profitx CP sy ¢ i
100 ‘7100 )
(AnB)® =2 -14
AnB (B) AUB (A)
N/ K2 ik 72 bl <brdu Sl 15
1 1
3 (B) > (A)

Cr )T = 8
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2- Write short answers to any SIX questions:
i- Define direct proportion.

(2x6=12)

2 13 3
li- Express ratio -—:— in its simplest form.
P 40" 20 .

iii- Express the decimal 0.065 as percentage.
iv- Calculate Zakat on silver amounting to Rs.300000,
v- Define Zakat.
vi- Find CP when SP =Rs.851 and Loss=8%
vii~ Find the marked price when SP = Rs.515.20 and
Discount 8 %.
viii- Define discount.
ix- Convert 700 Saudi Riyal into Pakistani rupees
when the rate of Saudi Riyal = Rs.22.400.
3- Write short answers to any SIX questions:
i- What is meant by credit card?
ii- Define sales tax.

(2x6=12)

iii- A computer price is Rs.34800 inclusive of 16 % sales tax.
What is the original price of the computer?
1
V- Simplify: x4 + x

W |t

v- Write 50,00,000 in scientific notation.
Vi- }f log x = 4.4236, then find x.
vii- Define Arithmetic Mean (A.M.)
viii- Find Geometric Mean (G.M.) between 3 and 27.

ix- Find the 5th term of a G.P.

inwhich a=2 and r=3.
4- Write short answers to any SIX questions:

i-1f A={1,4,7,8}andC={(3,4,5, 7},
then find ANC

ii- Define binary relation.

ii- 1fU={1,23,...., 8tandA={2, 3,57}
thenfind A~ AS

(2x6=12)

iv- Represent the point (6, -3) on the graph.
v- Convert 95°F into °C (degree celsius)

vi- Define ordinate.

vii- Define histogram.

viii- Find the Geometric Mean (G.M.) of 2, 4 and 8.
ix- Define variance,

(Z150)
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(2)

(U..f/'.} 4 L7 ;o / 8 L ) SectionII (9 o

5- (a) The price of 20 pens is Rs.2000. What will be the oo et VY, H‘ 40 &1 3 U £&-1,2000 H’ 20() -5
price of 40 such pens?
(b) Calculate Zakat on gold of worth Rs.8,00,000, cash s114-3,4,00,000 r‘m:m;s 00,000 =Adiy (L)
of amount Rs.4,00,000 and silver of weight 50 tola - _f_};‘r ¥34 (U3 $&-2,5000) J7 50 Sl
(Rs.5000 per tola).
6- (a) A shop-keeper gains a profit of 7 % by selling a BT LS wsy ) 41,3852 Sor 23 L6 () 26
dinner set for Rs.3852. If he sells it for Rs.4050, St &-3,4050 &x F5 w -al:'/J"b d’
then find his profit percentage. ' a’:(}”,w’ & KU1y
(b) Find the compound profit on Rs.1500 for 2 years {}L""G-Z//J,.«UVM 6 gdlr 2 4¢-21500 (L)
at 6 % annually payable half yearly. R Se L3 b .J'b'é:" f bl
7- (a) The price of two cars of 1300 cc and 1600 cc without S8 7U80 3E Un s 5151600 Jsl 551300 (L _7
excise duty are Rs.600,000 and Rs.800,000 respectively. -£-¢-1,800,000 2114-5,600,000 " *ed
If the excise duty on these two cars are 200 % and 250% 44200 o b A1 g Uk pdnn S
respectively. Find the prices of the two cars inclusive of 2% A3 AL o3 Juub" U I a8 250
duties.
(b) Provethat 3log 2 + log 5 = log 40 3log2+log5=log40 JSZb ()
8- (a) Find the number of terms in an A.P. when éé})”:uﬁ Jf: ST () .8
a;=3; d=4; a, =59 a;=3; d=4; a, =359
(b) 1 U={1,2,3,4,...9), A={(2, 3,6, 9} and #A=1{2,3,6,9U={1,234,.9/ (L)
B={1,3,6,7, 8}, then verify that JSZEkIxB={1,3,86,7,8)
(AU B)* =A°~ B® (AU B)® = A°n B®
9- (a) Draw the graph of y=x+ 7. ~$:-5'/Ky=x+7(_w) -9
(b) Find the Geometric Mean (G.M.) for following 2l Ll 32 Kol i S5 B ()
frequency distribution;
X 1 2 4
f 2 3 4 1

15-119-56000 G__U 7_—. /_/f
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- 1 (AUB)® = 9 (AUB)® = 2 -1 -1
¢ (D) A*NB° (€ A°NB (B) A°UBC® (A)
2- Inthe logarithm of a number the decimal part is called as SY.-AV NP ALows” 2

real part .a?J? (D) rational number . Pt (C) mantissa L& (B) characteristic (> (A)
3- The amount which is paid by the bank on the depositis called . 2l clet/bpz Ly LS"JFJ(‘;’ -

mark up IS4 (D) premium £, (C) bonus ¥ (B) profit &t~ (A)

4- The summary statistics which measures the et S FPeSCPes iz CLeKir s _a

middle (centre) of the data is called as

allofthese 7. (D) median k- (C) mode bk (B) mean Ll (A)

9- The fractional form of 70 % is ». F w70 5

10 7

70 (D) = (©) 0 ® 7 (A)

6~ Zakat on an amount of Rs.100,000 is ‘et 3 555 £ 41,100,000 -6
Rs.15000 < (D) Rs.2000 < (C) Rs.25000 < (B) Rs.2500 & (A)

7- The tax charged on all taxable income is calied as etz Wy d.«.fu'gg}s'rl.?zggu of

excise duty Jg:’:".-.f! (D) income tax J—Cfl (C) direct tax Lf?-‘—‘—\"i sz (B) sales tax g’gk (A)
?uf-’:x=2u:y=3x/i_8

8- If y=3x,thenfor x=2 we have y.= y=
6 (D) -3 (o 2 (B) 0 (A)
9-a50f 3,7,11, ....is i 3d 3,7,11,..... -9
20 (D) 23 (C) / 19 (B) 3 (A)
10- Inaratio a: b, 'a'is called as - : -4 Sa e aib 10
: mean gl (D) consequent <4(5Y (C) antecedent S (B) extreme (J(I (A)
11- Find the profit percentage if SP > CP In assped > 4523 Ji -’r,—{r-*l“’*‘-;g -11
Proﬁtx 100 | __c; 100 55 Profit g ki o
CP o cP PO
100 x SP 100 x =33 Sn : CP x Profit% J-_f_"—::," x.w..’g
100+ Profit% 100+ ;EJ P 100 00 (©
12- The tax which is charged on income, property and profits in a,:fs Al ‘J?Hfb; 8l:mi :ing:J,sT.eLf?u A2
~ the form of income tax, property tax and profit etc. is called as _ufé',’_( el eUmut PY
income tax -}ﬁ (D) property tax u,_C J1£L (C) direct tax Jg..::.fb oz (B) tax Jg (A)
13- If there is one daughter and agnatic 8 J{y b’ulF_u: "L J.?,Lu:’.' erd’&g»l@uﬂ =13
grand-daughter their shares are respectively
L3 11 11 11
2’6(0} 2’4(0) 2:3(3) 2’8()
14- An instrument for payment order issued by a bank on el d’_{b’i..@d&:ﬁl KLASG 14
the request of its customer is called as G ela by
bill of exchange ¥% (D) bankdraft w3 (C) cheque - (B)  payorder L ()
15- G.M. between 1 and 8 is s 3 UenLd 8 411 15
+242 (D) ~2J2 (© +v2 (B 242

16-(I1)-119-60000 s U J—-2_/ g
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2- Write short answers to any SIX questions:
i- Express 65 % as fraction in the lowest form.

(2x6=12)

. b
ii- Express =

8

" correctto 1 decimal place.

fraction in percentage form giving answer

4
- |f g of the students in a school have been away for a holiday.

How many in every hundred have been on holiday?
iv- Calculate the amount of Zakat on an amount of Rs.500,000.
v- Calculate Ushr on a rice crop produced by natural
resources amounting to Rs.600,000.
vi- Define loss.
vii- Find SP, when CP = Rs.480 and profit=3 %
viii- Find the CP. when SP =672 and profit=5%
ix- Define pay order.
3- Write short answers to any SiX questions:
i- What is meant by insurance policy?
ii- What is property tax?

(2x6=12)

iii- A computer has price Rs.34800 inclusive of 16 % sales tax.
* What is the original price of the compute?

- Write 89.99 in scientific notation.
log 36

log 6

V- Solve:

vi- Solve: log5+log4 +log3 —log6
vii- Find an A.M. between 6\/5 and 2\6

vii- Find A.M. between x=1, x+7.
o+l
2n+5
4- Write short answers to any SIX questions:

ix- Find first two terms of a, =

i- Define intersection of sets.
i- If U={1,2,3,...20}and A={9,10, 11,...... .20},
then find A®
iii- 1f A={1,4,7,8), B= {4,6,8,9)andC={3,4,5,7},
then find (AUB)UC

iv- Represent the point D(6, -3) on graph.

(:.’g.lon)

(2x6=12)

A={9,610, 11, ...,

“E f e\ EL iy (6) ,;;.Jf‘ -2
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~vii
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gl 89.99

—écff log 36

log 6

_zE f/ log5+log4 +log3—

e b 37U 245 4 6V
LE s P Lox -1 x4 T

” n+1
_fﬁqr:’: 2 l,,k;’d/ an “m

log6

=l
~i
i

~iv

-

~vi
~Vii
~viii

~ix

..5{;:« Lmjﬂﬁaﬂb’(ﬂ {a.(jf -4

Euplvs Ly

20) 4 U={1,2,3,...20}/1
g o A%

S B=1{4689 A=({1,4,78
g (AUB)UC jxc={345T7)
56, 5/Y D6, -3)

CDUL'L.J‘%

-

-iii

-iv



v- Write down the coordinates of a point lying right hand
side of the origin on x-axis at a distance of 3 units from
the origin.

vi- Convert 150°F into °C.

vii- Define median.
viii- Find the mode of data 6,2,4,3,4,54,5
ix- Find the range of data: 2, 9, 3,6,12,8

5- (a) 8 persons can do a job in 24 days, if 4 more persons
joined them, how much time they will take to complete
the same job.

(b) If a deceased left a preperty of worth Rs.15,00,000,
- work out the property, if he left behind a widow.

6- (a) Atrader earns a profit of 20 % by selling a chair
for Rs.2700. Find the cost price of the chair.

(b) If the simple profit on Rs.640 for 12 years
is Rs.384. Find the rate of profit.

7- (a) The total taxable income of a person is Rs.4,30,000.
If he is given rebate Rs.3000 on the tax chargeable,
then work out the amount he has to pay as an income
tax @ 4.5 %.

(b) Simplify -5__1"—1.9_323 and write answer
2 x 10?

in scientific notation.

1
8- (a) Inserttwo G.M. between 4 and -

(b) If U=1{4,6,8,9,10), A={4,6} and B={s, 8, 9),
then verify that (AU B)® = A~ B®

9- (a) Drawthe graph of y = 2x -3

(b) Find the standard deviation 2,3,6,8, 11

16-119-60000
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B={6.8,9) » A={4,6). U=(4,68,9, 1011 (_)
(AUB)®* = A°NB® S & epin

-E5U ¥ y=2x-3() .9
G A 2,3,6,8,11 (L)

GUOT—2-19

el



